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Stonehenge, the location of which is Salisbury Plain in England, is a prehistoric monument. Its
construction took place in about 1,800 BCand is undoubtedly an amazing human (1) ... (ACHIEVE). It
consists of two circles of huge stones, some of which weigh up to 50 tons. What makes Stonehenge all the
more (2) ... (IMPRESS) is the fact that some of the stones (3)... (ORIGIN) came from Pembrokeshire,
which is over 200 miles away. Transportation of these stones would have been carried out using manual
labour, since very little (4) ... (TECHNOLOGY) advancement had taken place at the time.

Про чи тай те текст. От при ве ден но го в скоб ке (3) слова об ра зуй те ОД НО КО РЕН НОЕ слово таким
об ра зом, чтобы оно грам ма ти че ски и лек си че ски со от вет ство ва ло со дер жа нию тек ста. За пол ни те про -
пуск (3). Пом ни те, что за дан ную форму слова не об хо ди мо из ме нить.


